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When I get more
confident I can
subtract larger

numbers.
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‘Remember: Pencil, short date, aunderlined.

Have a go: Usea template i needed!
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M Challenge:

_ | g e Calculation at Chesswood | Subtraction 5

Expanded Column

— 7 8 l'. l'. q 2 Use Squar‘ed paper to write
B the numbers in columns.

‘ ‘ ‘ ‘ ‘ ‘ 500 e nto ten one o= e

‘ ' ; / - But now T can't subtract 70 from 60! O
8 8 6 3490 + ?O "'/6’ I need to exchange a hundred O
RS _ into ten tens: 100 + = 0.
50 = 70 = 90 . —

When I get more
confident I can
subtract larger

numbers.

_ 100+ 70+ 7 e ?130 3?0 16
‘ ‘ 200 + 90 + 9 = 299 2 ;
47 57 - 438 - 376 -177 =199 -/



